10810 Northwest Freeway Houston, TX 77092 Invoice

DATE	INVOICE #
10/31/2016	11-60530

**BILL TO** 

Fort Bend County Facilities and Planning Department 1517 Eugene Heimann Circle #500 Rosenberg, TX 77469

PO 143987

R 389781

Project #	Terms	Project	Purchase Order
16M13388	Net 30 Days	Ft Bd Parking Garage	143987

		101113300	Jays 11 Bu Farking Garage		143707	
DATE	REPORT#	DESCRIPTION	QTY	RATE	AMOUNT	
		Fort Bend County Parking Garage Ad	ldition			
10/1/2016	5	Staff/Project Engineer	0.1	183.00	18.30	
10/1/2010	1	NICET Level II Technician - OT	4	97.50	390.0	
		Vehicle Charge	3	10.00	30.0	
		Nuclear Density Gauge Charge	3	10.50	31.5	
10/3/2016	6	Staff/Project Engineer	0.1	183.00	18.3	
0.0.2010		NICET Level II Technician	4	65.00	260.0	
		Vehicle Charge	3.5	10.00	35.00	
		Nuclear Density Gauge Charge	3.5	10.50	36.7	
10/4/2016	7	Staff/Project Engineer	0.1	183.00	18.3	
	182	NICET Level II Technician	4	65.00	260.0	
		Vehicle Charge	2.5	10.00	25.0	
		Nuclear Density Gauge Charge	2.5	10.50	26.2	
10/5/2016	8	Staff/Project Engineer	0.1	183.00	18.3	
		NICET Level II Technician	4	65.00	260.0	
	İ	Vehicle Charge	4	10.00	40.0	
		Nuclear Density Gauge Charge	4	10.50	42.0	
	9	Staff/Project Engineer	0.1	183.00	18.3	
		Moisture Density Relationship - Stab	ilized 1	225.00	225.0	
		Material				
	10	Staff/Project Engineer	0.1	183.00	18.3	
	0.0	Cement Stabilized Sand (CSS) Moldi	ng and 4	71.00	284.0	
		Strength				
10/6/2016	11	Staff/Project Engineer	0.1	183.00	18.3	
		NICET Level II Technician	4	65.00	260.0	
		Vehicle Charge	3.5	10.00	35.0	
		Nuclear Density Gauge Charge	3.5	10.50	36.7	
10/10/2016	12	Staff/Project Engineer	0.1	183.00	18.3	

**Total** 

**Balance Due** 

Phone #

(713) 695-1133

Page 1

JAN 1 8 2017 BY: FM 17 60 35

10810 Northwest Freeway Houston, TX 77092

# **Invoice**

DATE	INVOICE #
10/31/2016	11-60530

**BILL TO** 

Fort Bend County Facilities and Planning Department 1517 Eugene Heimann Circle #500 Rosenberg, TX 77469

		Project #	Terms	Project	Purch	ase Order	
		16M13388	Net 30 Days	Ft Bd Parking Garage	: 1	143987	
DATE	REPORT#	DESC	CRIPTION	QTY	RATE	AMOUNT	
		NICET Level II Techn	ician	4	65.00	260.00	
		Vehicle Charge		3	10.00	30.00	
		Nuclear Density Gauge	Charge	3	10.50	31.50	
0/11/2016	13	Staff/Project Engineer		0.1	183.00	18.30	
		NICET Level II Techn	ician	8	65.00	520.00	
		NICET Level II Techn	ician - OT	1	97.50	97.50	
		Vehicle Charge		8	10.00	80.00	
		Nuclear Density Gauge	Charge	8	10.50	84.00	
10/12/2016	14	Staff/Project Engineer		0.1	183.00	18.30	
		NICET Level II Techn	ician	4.5	65.00	292.50	
		Vehicle Charge		4.5	10.00	45.00	
		Nuclear Density Gauge	Charge	4.5	10.50	47.25	
10/13/2016	15	Staff/Project Engineer		0.1	183.00	18.30	
		NICET Level II Technician		8	65.00	520.00	
		NICET Level II Techn	ician - OT	1	97.50	97.50	
		Vehicle Charge		8	10.00	80.00	
		Nuclear Density Gauge	Charge	8	10.50	84.00	
0/14/2016	16	Staff/Project Engineer	0	0.1	183.00	18.30	
		NICET Level II Techn	ician	7	65.00	455.00	
		Vehicle Charge		7	10.00	70.00	
		Nuclear Density Gauge	Charge	7	10.50	73.50	
0/17/2016	17	Staff/Project Engineer	8	0.1	183.00	18.30	
	E	NICET Level II Techn	ician	8	65.00	520.00	
		NICET Level II Techni	ician - OT	2	97.50	195.00	
	-	Vehicle Charge		8	10.00	80.00	
		Nuclear Density Gauge	Charge	8	10.50	84.00	
0/18/2016	18	Staff/Project Engineer		0.1	183.00	18.30	
		ACI Level 1 Technicia	n	4.5	51.00	229.50	
	-1	Vehicle Charge		4.5	10.00	45.00	

**Balance Due** 

Phone # (713) 695-1133

#### 10810 Northwest Freeway Houston, TX 77092

# **Invoice**

DATE	INVOICE #
10/31/2016	11-60530

**BILL TO** 

Fort Bend County Facilities and Planning Department 1517 Eugene Heimann Circle #500 Rosenberg, TX 77469

		Project #	Terms	Project	Purch	ase Order	
		16M13388	Net 30 Days	Ft Bd Parking Garage	1	143987	
DATE	REPORT#	DESC	CRIPTION	QTY	RATE	AMOUNT	
	19	Staff/Project Engineer		0.1	183.00	18.30	
	20	Staff/Project Engineer		0.1	183.00	18.30	
		Concrete Cylinder Cor C39)	mpressive Test (ASTM	3	17.00	51.00	
10/19/2016	21	Staff/Project Engineer		0.1	183.00	18.30	
		NICET Level II Techn	ician	5	65.00	325.00	
		Vehicle Charge		5	10.00	50.00	
	22	Staff/Project Engineer		0.1	183.00	18.30	
			mpressive Test (ASTM	4	17.00	68.00	
	23	Staff/Project Engineer		0.1	183.00	18.30	
10/20/2016	24	Staff/Project Engineer		0.1	183.00	18.30	
	- mai	NICET Level II Technician		5	65.00	325.00	
		Vehicle Charge		5	10.00	50.00	
	25	Staff/Project Engineer		0.1	183.00	18.30	
		Concrete Cylinder Cor C39)	mpressive Test (ASTM	4	17.00	68.00	
	26	Staff/Project Engineer		0.1	183.00	18.30	
	- No. 10	Nuclear Density Gauge	Charge	5	10.50	52.50	
	27	Staff/Project Engineer		0.1	183.00	18.30	
10/21/2016	28	Staff/Project Engineer		0.1	183.00	18.30	
		NICET Level II Techn	ician	4	65.00	260.00	
		Vehicle Charge		3	10.00	30.00	
		Nuclear Density Gauge	Charge	3	10.50	31.50	
	29	Staff/Project Engineer		0.1	183.00	18.30	
10/24/2016	30	Staff/Project Engineer		0.1	183.00	18.30	
		NICET Level II Techn	ician	8	65.00	520.00	
		NICET Level II Techn	ician - OT	1.5	97.50	146.25	
		Vehicle Charge		8	10.00	80.00	
				Total			
				Balance D			

Phone #

(713) 695-1133

#### 10810 Northwest Freeway Houston, TX 77092

# Invoice

DATE	INVOICE #
10/31/2016	11-60530

**BILL TO** 

Fort Bend County Facilities and Planning Department 1517 Eugene Heimann Circle #500 Rosenberg, TX 77469

		Project #	Terms	Project	Purch	ase Order	
		16M13388	Net 30 Days	Ft Bd Parking Garag	e 1	143987	
DATE	REPORT#	DESC	RIPTION	QTY	RATE	AMOUNT	
	31	Staff/Project Engineer		0.1	183.00	18.30	
		Concrete Cylinder Com C39)	pressive Test (ASTM	4	17.00	68.00	
	32	Staff/Project Engineer		0.1	183.00	18.30	
		Nuclear Density Gauge	Charge	8	10.50	84.00	
	33	Staff/Project Engineer		0.1	183.00	18.30	
10/25/2016	34	Staff/Project Engineer		0.1	183.00	18.30	
	1	NICET Level II Techni	cian	4.5	65.00	292.50	
		Vehicle Charge		4.5	10.00	45.00	
		Nuclear Density Gauge	Charge	4.5	10.50	47.25	
10/27/2016	35	Staff/Project Engineer		0.1	183.00	18.30	
		NICET Level II Techni	cian	4	65.00	260.00	
		Vehicle Charge		4	10.00	40.00	
	36	Staff/Project Engineer		0.1	183.00	18.30	
		Concrete Cylinder Compressive Test (ASTM		4	17.00	68.00	
		C39)					
	37	Staff/Project Engineer		0.1	183.00	18.30	
10/28/2016	38	Staff/Project Engineer		0.1	183.00	18.30	
		NICET Level II Techni	cian	4	65.00	260.00	
	16.0	Vehicle Charge		4	10.00	40.00	
	39	Staff/Project Engineer		0.1	183.00	18.30	
		Concrete Cylinder Com C39)	pressive Test (ASTM	4	17.00	68.00	
10/31/2016	40	Staff/Project Engineer		0.1	183.00	18.30	
		NICET Level II Technic	cian	4	65.00	260.00	
		Vehicle Charge		4	10.00	40.00	
	41	Staff/Project Engineer		0.1	183.00	18.30	
		Concrete Cylinder Com C39)	pressive Test (ASTM	4	17.00	68.00	
				Total			
				Balance D	)ue		

Phone #

(713) 695-1133

10810 Northwest Freeway Houston, TX 77092

### **Invoice**

DATE	INVOICE#
10/31/2016	11-60530

BILL TO

Fort Bend County
Facilities and Planning Department
1517 Eugene Heimann Circle #500
Rosenberg, TX 77469

		Project #	Terms	Project	Pu	rchase Order
		16M13388	Net 30 Days	Ft Bd Parking Gar	age	143987
DATE	REPORT#	DESC	CRIPTION	QTY	RATE	AMOUNT
		I certify that the amoun correct to the best of n	nt invoiced is true and ny knowledge.			
		Fred Madani Da	ate		Je ny i	
				Total		\$10,673.0
				Balance	Due	\$10,673.6

Phone #

(713) 695-1133

Wayher